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QUESTION 1

An administrator has been receiving complaints about their SaaS business collaboration apps. Which network service
should the administrator use to resolve the issue?

A. Backhaul

B. Multi-Path

C. CoS mapping
D. Direct

Correct Answer: D

QUESTION 2

A VMware SD-WAN customer has a requirement to enable single sign-on (SSO) authentication to their
existing provider (idp) for access to their Orchestrator account.

Which authentication protocol is supported?

A. OpenID Connect (OIDC)

B. LDAP

C.SAML 2.0

D. TACACS+

Correct Answer: C

QUESTION 3

Refer to the exhibit.
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An MSP is designing a solution for a merger of Customer A and Customer B to Customer A\\'s enterprise. Due to
overlapping IP addresses and security requirements, the segments with the same names between Customer A and
Customer A cannot be merged. Based on the graphic and the requirements, how many new segments need to be
configured in the VMware SD-WAN Orchestrator?

A. 4 segments

B. 2 segments

C. 6 segments

D. 5 segments

Correct Answer: D

QUESTION 4

Company A has recently acquired Company B and needs to establish network connectivity. Company A has only Cisco
for firewalls and VPN. Company B is using VMware SD-WAN. Which VMware SD-WAN Cloud VPN solution should an
administrator configure to establish connectivity?

A. Branch to Non VMware SD-WAN Site.

B. Branch to SD-WAN Hub

C. Branch to Main Office VPN

D. Branch to Branch VPN

Correct Answer: A

QUESTION 5

A technician needs to SSH to it VMware SU-WAN Virtual Edge running version 3.3.2. What is the default password?
A. adnim

B. No password required

C. Password configured in cloud_init

D. velocloud

Correct Answer: C
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